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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 13 and of Part-II are 40.

o P I F T B G 5 59799 § GRa g 8 aur 797 13 8

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 13 questions.
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® go7-uF 7 qlle & & G RF T #S T 7Ol @ G FACYRaw & FI-TS GT ford)

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o DU IS F T [GGT G BT G Y&, JoT F FHH I iG]

Before beginning to answer a question, its Serial Number must be written.
o JuT-Yiasr & T F @l G/ 9 7 818/

Don’t leave blank page/pages in your answer-book.

o FUTGRaE & SR g o e T Al o SEvEdagar & g e krar sav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.
o G ST T To FIT-GH GV 7FST [or@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY &7 @ {@ 98 GrRET #Y o [ geT-9A {7 7 e 8, qhEr & I 59
G 4 ig o arar @w el A aEm

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
General Instructions :

() @ g7 Aart &

All questions are compulsory.
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(i) HEF FIT & 7% ITH @7 T TT &

Marks of each question are indicated against it.
(iii) STY% FAT STEITA &7 T
Your answer should be according to marks.
s -

SECTION-A

&1 AT S qUTeh ST ioTd f5eh &l bl AT 365 Bl 2

Find two consecutive positive integers the sum of whose squares is 365.

ae g A6, 1), B(8, 2), C(9, 4) 3R D(p, 3) T THNR ag4sl & A9 6 &4 § &, @
p & T G HifQ 2

If the points A(6, 1), B(8, 2), C9, 4) and D(p, 3) are the vertices of a

parallelogram, taken in order, find the value of p.

A Fd i 2

7sin? 30° + 6cosec260° — cot? 45°
sin? 60° + cos? 60°

Evaluate :

7sin? 30° + 6cosec260° — cot2 45°
sinZ 60° + cos? 60°

P.T.0O.
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A g B ¥ Ud% F AT 64 cm? B, B G Hahl Pl BB UH S SHET A
Tl IHY I I 1 R S S ST 2

2

Two cubes each of volume 64 cm” are joined end to end. Find the surface area

of the resulting cuboid.

I H 7A@ AR 6 B0 R AT A G UF S AGTSAT M Sl &1 5
iehaT o © 6 AT () O & (i) =0 & 7 2

A bag contains 7 red balls and 3 green balls. A ball is drawn at random from

the bag. What is the probability that the ball drawn is (i) red (ii) green.

gug -

SECTION - B

IR e AT T NS T AN X T A 0 g7 3 of 9 wh & a8 ol 81 e =X § @&
ehsaa‘raa%aarﬁasmw%? 3

If we add 1 to the numerator and subtract 1 from the denominator, a fraction

reduces to 1. It becomes % if we only add 1 to the denominator. What is the

fraction ?
A.P.3,8,13, ........ , 253 § arf<am | 2041 U8 3 HivT) 3
Find the 20th term from the last of the A. P. 3, 8, 13, ........ , 253.
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8. 10 wiex Tl €t tE IR W e W g & 8 Hiex H TR W R ww fagdh %
T &1 AR & MR @ &t & fEd RR @ g & A9 Sk 3

A ladder 10 m long reaches a window 8 m above the ground. Find the distance

of the foot of the ladder from base of the wall.

9. Sar 5 omefy § Rewmn o &, vHifkd &7 &1 &% G HINT, TE 1 ABCD ®H TA®
o 16 A1 21 3

A| |B

D| IC

Find the area of the shaded region as shown in figure, where ABCD is a square

of side 16 cm.

A| IB

D

103/1 P.T.0O.
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10. = @reft & Afese S S 3

-1 0-10 10-20 20-30 30-40 40-50 50-60

CIERRSIE] 5 8 20 15 7 5

Find the median of the following data :

Class-interval 0-10 |10-20|20-30|30-40|40-50|50-60

Frequency 5 8 20 15 7 5

s -4
SECTION-C

11. =1 gfiseen & g & Ras bl & FH 7 Tahl o S : 5

6x + 3y = 6xy AT 2x + 4y = Sxy

Solve the following pair of equations by reducing them to a pair of linear

equations :

103/1

YqT

OR

6x+ 3y =6xy and 2x+ 4y = Sxy



12.

13.

103/1

(7) 103
e gy 9% Sih B TY SED G Y A T & S Ui aY g SRl oy
G G B Y B A [ il ST G Y A S P

Five years hence, the age of Jacob will be three times that of his son. Five
years ago, Jacob's age was seven times that of his son. What are their present

ages ?

6 T Prer & wF g0 W W A wWe-tEn Eifgy it wER 60° % For W Had & qu
LCRIICACER el 5

Draw a pair of tangents to a circle of radius 6 cm which are inclined to each

other at an angle of 60° and write steps of construction.

YqT

OR

q HH gar B Beu A 5 @lo @ur 3 Ffio ¥ ST g9 P S Sfiar B W F
FITY T Bl g B @ H ol

Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord

of the larger circle which touches the smaller circle.

I & @& g 9, S 99R & T | 20 WX @ g W B, MR & R @ S
FT 30° Bl HAR & SHaR T Ao 5

The angle of elevation of the top of a tower from a point on the ground, which

is 20 m away from the foot of the tower, is 30°. Find the height of the tower.

P.T.0O.
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7T
OR
T GAQ S W el HMR & BT 99 RAfd # 40 Hex oftes @i 8 S © Stk
g P AT 60° / FEHT 30° B A B AR B SR TG Hi)

The shadow of a tower standing on a level ground is found to be 40 m longer

when the Sun's altitude is 30° than when it is 60°. Find the height of the

tower.
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o FUT AT F T [ G % 3G JoT-99 § FRT 7T 15 T F97 40 &1

Please make sure that the printed pages in this question paper of Part-II are 15 in
number and it contains 40 questions.

o gheEreff 7T T To FIT-UH T 9T [rd)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUT 37 @ (@ 798 FERad &Y d [ geT9H [ T & 8, qhEr & IuT 59
T § g 4 @ w@hwre Tl A awam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 IErt &

All questions are compulsory.
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(i) H97 FE 1 @ 40 TF JEGTT J97 &1 J9% F97 1 5% T &1

Questions from 1 to 40 are objective type questions. Each question is of 1

mark.

1. 3825 % AHY [UMEUEl & &Y § e Hio| 1

Express 3825 as a product of prime factors.

2. 5+5+5 UH URAY G& T FF STURAT GE&AT Bl 1

5+ 5\/3 is a rational number or irrational number.

3. 336 3K 54 % HCF Fd $1 1

Find HCF of 336 and 64.

4-Ww%aawww%wwiﬁam?ﬁ%| 1

The rational number % is a terminating or non-terminating decimal

expansion.

R w7 & gid ¢ -
5. fEa agme 7x? -3x+1 % LB H AT .o B 1

Fill in the blanks :

Sum of the roots of the quadratic polynomial Tx2 —3x+1 iS cevevereenn. .

103/ 11
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7el feeey ge : ’
6. H&iﬁaﬁagqa%waﬁrmwwwan%aﬁ?—% &, 98 faua g% & ¢

(A) 3x2 +x+1
(B) 3x2 - x-1
(@) 3x2 +x-1
(D) 3x% - x+1
Choose the correct option :

If the sum and products of the roots of the quadratic polynomial are % and

—% respectively, then the quadratic polynomial is :

(A) 3x%+x+1
(B) 3x%-x-1
(C) 3x%+x-1

(D) 3x2 - x+1

7. Wew wETT F FW %x+2y:8 T 2x + 3y = 12 T & A1 ST 1

The pair of linear equations %x+2y =8 and 2x + 3y = 12 is consistent or

inconsistent.

103/ 11 P.T.0O.
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A) s=3,t=5
(B) s=6,t=9
(C) s=9,t=6

(D) s=5,¢t=3

Choose the correct option :

The solution of linear equations s —t=3 and% +% =6 is :

9. faa F#T 6x2 - x-2=0 & TTHETS FHIT 1
Factories the quadratic equation 6x2-x-2=0.

10. &M FHET 2x2 + x—6=0 B IA 8 ccvveevrrnnnn | 1

The roots of the quadratic equation 2x2+Xx-6=0 are .............. .

103/ 11
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el ey e : 1
11. IR faum @it 3x2 +kx+3=0 & T &AW &, A k & 99 & :
(A) 46 (B) +3
(€) *9 (D) & & Fg T
Choose the correct option :

If the roots of the quadratic equation 3x2 +kx+3=0 are equal, then the value

of kis :
(A) 6 B) 3
(C) 9 (D) None of these
12. pd T a9 & T x+y+ 1 =0 T 4x + py + 8 = O THHCN & JH B Th Al&dd
& Tl ’

For which value of p does the pair of equations x +y+ 1 =0and 4x+py+ 8 =0

has a unique solution.

13. A.P.4,1,-2,-5, .......... & grEsiaY gy 1

Write the common difference of A. P. 4, 1, -2, -5, .............. .

14. R &F & fd 7 1
A.P.5,12,19, ... ® 1431 T ...conev., 2
Fill in the blank :
14th term of A. P. 5, 12, 19, ....... IS vviiiinennnn. .

103/ 11 P.T.0O.



15.

16.

17.

18.

103/ 11

T 50 A WEst # AT ............. 2

The sum of first 50 natural numbers iS .............. .

Write the next three terms of A. P. 2, -1, 4, ............... .

Pk § gal I YA -
aft B B (THEy, gatTeE))
Choose the correct word from the bracket :

All squares are .............. . (similar, congruent)

el fawed g

A MNL T AQPR TH&Y &| 36 TP § &I P HIF-Al HACT a0 § 7

M

P
258 [70° \ 5 & Sﬁfﬁ/
/
70°
N L Q/\‘
10 a4t
(A) S.S.S. (B) A.A.A.
(C) S.A.S. (D) ZTH 9§ Fig 7l

103



(7) 103
Choose the correct option :
A MNL and A QPR are similar triangles. In given figure which similarity

criterion is used : M

PI\
25cm [70°\5 cm 5cm /
% :
N L Q R
10 cm
(A) S.S.S. (B) A.AA.
(C) S.A.S. (D) None of these
19. A Brget #t o & @ ¥ 3 F BA-Ar wHROT B B 1

(A) 7 &, 24§, 25 ¥

(B) 8 &I, 63, 3 &l

Sides of triangles are given below. Determine which of them is a right triangle.
(A) 7 cm, 24 cm, 25 cm

(B) 8cm, 6 cm, 3 cm

20. IR T g P O 3= 9 fhEll 99 W PA, PB WR@T W& 100° & HoT T et

B, @ |[POA STEXE .evvvnnn. | 1
(A) 40° (B) 80°
(C) 50° (D) = ¥ Hi 7l

103/ 11 P.T.0O.



21.

22.
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If tangent PA and PB from a point P to a circle with centre O are inclined to

each other at an angle 100°, then |[POA is equal to ............ .

(A) 40° (B) 80°
(C) 50° (D) None of these

R &7 9RY - 1
g qUT IFH WA F IS G B . Fed Bl

Fill in the blanks :

The common point of a tangent to a circle and the circle is called ............... .

T 5 O § T g0 W @@ $ T 24 Fflo TN Q # &= d U 25 &Hlo &1 qq

& B & 1
(A) 7 GHlo (B) 12 @0
(C) 15 dHio (D) 24.5 GHlo

From a point Q, the length of the tangent to a circle is 24 cm, and the distance

of Q from the centre is 25 cm. The radius of the circle is :

(A) 7 cm (B) 12 cm

(C) 15 cm (D) 24.5 cm



(9) 103

23. AP ¥ DE|BCEI ECH WM & T 1
A
2 & 1 ¥

498 /D E

B C

In figure DE||BC. Find the value of EC :

A
2 ik 1 &
awh /D .
B C
24. e (-1, -1) T (4, 4) D T B G oo, 2l 1

The distance between the points (-1, —1) and (-4, 4) iSs ............. .

25. I8 U, e fagel (1, -5) AR (4, 5) B FAW A @rErs oow & o g

a8 ]
A) 2:1 B) 1:1
(C) 1:2 (D) 3:2

The ratio in which the x-axis divides the line-segment joining the points A(1, -5)
and B(-4, 5) is :

A 2:1 B) 1:1

€) 1:2 (D) 3:2

103/ 11 P.T.0O.



26.

27.

28.

103/ 11

(10) 103
39 fog & Fewis, st foegett (4, —3) X (8, 5) &I SN d/d I@MTS &l ARG &7 4

3:1% YU H i & &, § ¢ 1
(CVRC A B) (3, 5)
€ (7,3 D) 3,7

The co-ordinates of the point which divides the join of (4, -3) and (8, 5) in the

ratio 3 : 1 internally, are :

(A) (4, 9) (B) (=3, 5)

€ (7,3) (D) (3,7)

X-3T8 W TE fag, S (2, -5) T (-2, 9) § TG &, © ¢ 1
(A) (0, -7) (B) (=7, 0)

(C) (=5, 0) (D) (0, -5)

The point on the x-axis which is equidistant from (2, —-5) and (-2, 9) is :

(A) (0,-7) (B) (=7,0)
(€) (=5,0) (D) (0, -9)
qﬁsece=% @,ﬁsinewqﬁﬂﬁﬁl 1

If sec6 = % , then find sin 6.



29.

30.

31.

103/ 11

(11)

78 o g -
2tan230° B

1+ tan® 30°

(A) sin 60° (B) cos 60°

(C) tan 60° (D) sin 30°

Choose the correct option :

2tan30°

5 is equal to :
1+ tan® 30°
(A) sin 60° (B) cos 60°
(C) tan 60° (D) sin 30°
2tan? 45° + cos? 30°—sin? 60° & M ............ 2

The value of 2tan? 45°+ cos2 30°—sin? 60° iS .............. .

B 14 Tio @Y 60° Bu@Te & FI A g4 & BHeES H SAEA © -

(A) 154 {1 (B) % i
(C) %@fﬁ? (D) 196 TH?

103

P.T.0O.



32.

33.
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(12) 103

Area of the sector of a circle with radius 14 cm and angle of sector 60° is :

208

(A) 154 cm? (B) Tch
© 398.m? (D) 196 cm?

TF S B AT B G B o 7 Ao B 3W GG &N 15 FFT H SR W AW &

A% B - ]
@) L B 2%

2 3
© *ae o) 70 i

2 3

The length of the minute hand of a clock is 7 cm. The area swept by the
minute hand in 15 minutes is :

(A) s cm”® (B) 154 cm?
2 3
(©) 49 cm’ (D) 170 cm’
2 3
21 AW & FEE U 5 AW MR P BT e T AT B STAT e 2 1

The volume of the right circular cone of height 21 cm and radius of its base

Scm, iS coieiiiniiennn. .
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The volume of the sphere of radius 8 cm is ............... .

35. Broar 4 Qo I T B NEAHT 38 2 Ilo BOUT A SO & @9 H @ S 31 99

F o E 1
@) 22 & ® o &

3 3
(C) %@rﬁ (D) TEH ¥ i e

A metallic sphere of radius 4 cm is melted and recast into the shape of a
cylinder of radius 2 cm. The height of the cylinder is :

(A) % cm (B) % cm

(@) %cm (D) None of these

R w7 & gid ¢ - 1
36. TH TeAT P MG S Gied T B FBH .oovneen B A T P ol

Fill in the blanks :

The probability of an event that cannot happen is .............. such an event is
called .............. .
37. = & @ 3-8 de R g @ Wi 78 & |l ? 1
3
A — B) -1.3
@ 5 (B)
C) 17% (D) 0.5

103/ 11 P.T.0O.



38.

39.

103/ 11

Which of the following cannot be the probability of an event ?

(A)

AW

(C) 17%

T% UQ & Th X Bhl SNl &1 Th 19T S U H Pl Taeham &

A die is thrown once. The probability of getting a prime number is .............. .

(14)

(B)

(D)

-1.3

0.5

qel faehed g -
Fr=t areft o A R
T-ST 0-4 4-8 | 8-12 | 12-16 | 16-20
ELSSIRGIN 5 4 5 2 4
(A) 9.2 B) 8.5
(C) 10.2 (D) 7.6
Choose the correct option :
The mean of the following data is :
Class-interval | 04 | 4-8 | 8-12| 12-16 | 16-20
Frequency 5 4 5 2 4
(A) 9.2 (B) 8.5
(C) 10.2 (D) 7.6




40.

103/ 11

(15) 103
Pl Tee & 10 frbe et § fow T fadel @ He fefaiad ©
3 521 20512 4

gl Sgash = i 1
The wickets taken by a bowler in 10 cricket matches are as follows :
3 521 2 0512 4

Find the mode of the data.



